
12.       Atomic Nucleus, 3
lecture 36, November 21, 2017



housekeeping
Coming attractions 

This week: 

chapter 12 homework due Wed 11/29…HW workshop Tue 11/28 

no class day after tomorrow 

End game: 

I’ve made some adjustments to the schedule…stay tuned, now, week by week 

exam #3 is Friday, December 1
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Atomic nucleus - continuing
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Generic Language  of Decay

N = # nuclei

Rate
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→ Energies  of disiwtiqvatim

Imagine the following generic decay chain :
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L decay

not  all nuclei are L . emitters

Ra Uv are famous
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what I L  Decay ?

a Quantum mechanical tunneling phenomenon .

KL for
2

"Rn was  ~5MeV
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Remember barrier penetration ?
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pdeca@
p decay confusing since 19 - teens

measurements  of E(p) well  established before  Bohr model .
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µneutron
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Pauli 's half - hearted idea
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